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(5%) (a) What is the difference between the main memory and the mass storage?

(5%) (b) What is the difference between the main memory and registers?

(10%) Convert each of the following numbers.

(a) 1100111101102 =(?)10=(?)1s
(b) 32A16=(?)2=(?)w0
(C) 258.5102( ? ) 2

(10%) List two current operating systems and two examples of application software.

(10%) Match the following languages to their descriptions:

(a) ASP (1) Query language for database

(b) SQL (2) Recent cross-platform language

(c) Java (3) Suited for mathematical problem solving

(d) Visual Basic | (4) Used for fast development of Windows applications
(e) Fortran (5) Used for dynamically generated web pages

(10%) What sequence of numbers is printed by the following algorithm?

assign Last the value 0
assign Current the value 1
while Current < 100) do
(print the value assigned to Current
assign Temp the value of Last
assign Last the value of Current;
assign Current the value Last+Temp)




